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Karnataka Secondary Education Examination Board
Malleswaram Bangalore-560003

Topic: MATHEMATICS

To enhance the academic quality of students, in order to measure their learning
quality, and to control mass copying as well rote memorization, Karnataka Secondary
Education Examination Board has brought a change in design of the S.S8.L.C
Examination Question paper from 2019-20. The board hopes to make some significant
changes will bring in students' attitudes towards periodic growth of social conditions.

In the previous question paper design, the unit vice marks were allotted in all
the subjects. Students may ignore the certain units because some teachers do not teach
those units with less mark, as a result they can lose certain concepts/valuable aspects
which may play a significant role in their future. Keeping this in view theme based
marks are distributed in question paper format from 2019-20.

‘Since the design of the Question paper has been modified by the board. The
format of the Mathematics question paper also has been changed from 2019-20, so
that the following points are taken into consideration by teachers and question paper
setters: '

In the Question paper, School candidates will have 38 questions for 80 marks.
There will be a total of 48 questions for 100 marks for the students who take the SSLC
examination privately (Private candidates)

GUIDING FACTORS

» Innovative learning environments are being created in the application of
science and technology, so that to enhance the level of logical thinking,
creativity and analytical attitude in students,2 marks questions have been
reduced in the question paper. 1 mark, 3 marks questions have been increased
and Smark question is introduced in the current question paper design.
Teachers and students are to be prepared for this changing question paper and
practice with the newly designed question paper with their own blue print and
question paper; doing so will increase the learning potential of the children and
contribute to quality education.

» Blueprint and unit marks are not given for the 2019-20 question paper. Sample
question papers arc given. These papers are only a sample and there will be no
change in the theme based marks allotment of the next annual examination
question paper, but there will a change in the unit vice marks and number of
questions,compared to last year question paper. Teachers and students should
prepare their own question paper for practice which helps to score good marks
for the next annual examination and also the school level examinations.



In the prescribed -text book some chapters have optional exercises and it is
mentioned “these exercise problems are not for examination”. Even though
examination board will not give the question from these areas, teachers can
solve all these questions that can develop concepts and skill in students to
answer application level questions, which occur in the examination.

There is probability of reduce the number of questions which are directly
selected from text book in the following days, instead question can be asked in
relation to the syllabus in question paper. This change in question paper design
help students develop their writing skill and adopt analytical thlnkmg and
answer any applicable or informative questions.

To develop the concepts in students which are in Al (Proofs in Mathematics)
and A2 (Mathematical Modelling), activities can be given in these chapter for
their internal assessments.

In the newly designed question paper one theorem for 3marks and one
theorem for 4marks or Smarks ( if 5 marks theorem question is not occurred
there will be a question for 5 marks in any theme based unit) will be asked
from the following areas;

1. Thale’s theorem.

2. AA similarity criterion theorem.

3. Theorem on Areas of similar triangles.
4. Pythagoras theorem.

5. Converse of Pythagoras theorem.

6. Theorems of circles.

Note the following for skill related aspect

1. To solve, pair of linear equations in two variables graphically.
2. To draw ogive graph.

3. Constructions of similar triangle.

4. To divide a given line segment in the given ratio.

5. Constructions related to the circles.

Internal choice question in the question paper will be within the theme or
within the Unit, as mentioned below.
4 marks 1 question, 3marks 4 questions, 2 marks 2 questions.

Expected positive aspects of the question paper pattern and the design of the question paper

>

Controls mass coping which is social nuisance, unfolding by Medias
nowadays. Also control of rote memorization

Increase learning ability and logical thinking among students.

Teachers list the concepts of all the chapters in the textbook and teach them to
build confidence in the students, which develops maturity in them.

Helping students answer long answer questions will increase their analytical
skills and make them curious, thus maklng them the foundation of higher
education.

Teachers will be able to enhance value based thinking from teaching all the
concepts of all units.



zewe LRBON 37, 33300 I
. esadread: 1 (DIMENSION-1)
JBARG03 wodnY Jonad3 (Theme base marks distribgtion)

8)./0.SL.N JaEaarTeDE(THEMES ) Fe3dnwh (UNITS) Lo (MARKS)
Sowa, SGS 83 Sosd,
1 4
NUMBER SYSTEM REAL NUMBERS
A0 30eg0R)Y, Leeh Cezed, 3
" Besoan
PAIR OF LINEAR EQUATION IN TWO
VARIABLE
Dezaricdd
> TZT0080 Belrixd 55
ALGEBRA -
‘ ARITHMETIC PROGRESSION
wBBEReIH POLYNOMIALS
Zrirdessorish
QUADRATIC EQUATIONS
3233 FTIBS
3 BReRd INTRODUCTION TO TRIGONOMETRY
3 3
TRIGONOMETRY
JBreI DS aHedT T obrwd SOME
APPLICATIONS OF TRIGONOMETRY
e Te0d Ceyoniaia NGer T 08 Jeranisia
4 5
COORDINATE GEOMETRY COORDINATE GEOMETRY
Roayzas, ) RBoary TR STATISTICS
5 Bodaeaba STATISTICS AND 9
Foz3SNe0LEPROBABILITY
PROBABILITY
BeherYOTRIANGLES
Cesrenedd
6 B)BriWCIRCLES v
GECOMETRY -
GeddrixLCONSTUCTIONS
e Ta ) BBrier FowhIT Adenrrivd
d:edééaéem T PITY AREA RELATED TO CIRCLES
7 10

(MENSURATION)

SURFACE AREA AND VOLUME

‘ ai)ed%cbéem Hard endgde

SURFACE AREAS AND VOLUMES




e3tdyoed) : 2 (DIMENSION-2)

2o Bes 03 woBnY Jond (Weightage to cognitive level)

&,.70. ORI Eey FoBriwh) cognitive levels Tesmocath(x) 803
1 @, 0 Remembering 10 8
330ZYS understanding 55 44
Eﬂddaii VN ci‘lzg:eaﬁ
20 ’ 16
Apllication and Analysis
- 893, skl B : 12

e30379a ; 3 (DIMENSION-3)

BB MY IGY 8reda @osnY donds (MARKS DISTRIBUTION BASED ON TYPE OF QUESTIONS)

Q3 YNV Fdes TYPES OF

8.0. 83 1v o, WD), 08D
QUESIONS
B & sod, (ot ©083 IF,NW)
1 MULTIPLE CHOICE (ONE MARK . . 8 8

QUESTION)

o3 30 ©0sy g
( 208 9038 B i)
VERY SHORT ANSWER {ONE MARK

QUESTION)

Scb eUZ0T
( 20w 08 @3 iw)
SHORT ANSWER (TWO MARK

QUESTIONS)

Bezt o0BTE FZ Hww-1
( St vosd FF )
LONG ANSWER -1 (THREE MARK

QUESTION)

Qemr ou303 c‘ajegriu)—z
(Feew), esozd aja;rh,b)
LONG ANSWER-2(FOUR MARK

QUESTION)

Regir w0303 g_;’_JJE:ﬁ%i)“S
{ oth vosd Zg W)
LONG ANSWER-3 (FIVE MARK

QUESTION)

%t TOTAL 38 B8O




303592 ;4 (DIMENSION-4)
{2 v ey s 8oetd el woshy donds)

3,./0. B8N W3 QUESIONS LEVEL Feswemoth({%) €087
1 Dozl EASY ac 24
2 TILTeU5 AVERAGE 50 40
3 888 DIFFICULT 20 16
WL 100 80

ol




pINaren onf.ox.atk.d. B0eg Srihded)s Juybrndnt 3y S&8ab O

e3Qiroed: 1

JRoIreredd wodnY Jonds (Theme base marks distribution)

el

3)./0.SL.N JRATDB(THEMES ) LB {UNITS) 0BRW(MARKS)
Roar, BGS DI Bos,
1 6
NUMBER SYSTEM REAL NUMBERS
S0 Woeg0RY, Beeld Jesed, B
BLesTHNWD
PAIR OF LINEAR EQUATION IN TWO
VARIABLE
Dedricsa JEr030 BeBriu
2 30
ALGEBRA ARITHMETIC PROGRESSION
wRBEREINRD POLYNOMIALS
Sricddestarid
QUADRATIC EQUATIONS
3BRERDID BT
8RS INTRODUCTION TO TRIGONOMETRY
3 1
TRIGONOMETRY 3dredDABab chedR eg,obrivh SOME
APPLICATIONS OF TRIGONOMETRY
AGeE D08 Ceavericda NEerTeos Cevarisiad
4 : 7

COORDINATE GEOMETRY

COORDINATE GEOMETRY

R0zl DI

Aoejdecdhd STATISTICS AND

ra’;oamém(g STATISTICS

PROSABILITY BodesdeckSPROBABILITY
82BN TRIANGLES
Cegoriedd
¢ @BrWCIRCLES -
GEOMETRY
' SdS3MWHCONSTUCTIONS
! (Begrieia) FBrior FoudIT Adenrrisd 1




ai)ee_i%aéemr BT FRIJU

(MENSURATION)

AREA RELATED TO CIRCLES

SURFACE AREA AND VOLUME

zheed, ddenr Tarh gy
g

' SURFACE AREAS AND VOLUMES

escdreed : 2
FORr®es 305903 08N Joriida (weightage to cognitive level)

8,.80.5L.NO. LR TE Bo@nwb(cognitive level) Feattome () £90BMR(MARKS)
1 3,08 Remembering 10 10
2 BRIOF understanding 54 54
o0 D) dFews 7
3 20 20
Apllication and Analysis
a &3ey, kil 16 16

esadresd ; 3

BB 1Y PNV 8503 ©osnY Jord (MARKS DISTRIBUTION BASED ON TYPE OF dUESTIONS)

o]

8.3

QG FF Y FUe@D TYPES OF QUESIONS @F NV Kosl;

eI, €908

W@ sad, (woth wosd B riw)

MULTIPLE CHOICE (ONE MARK QUESTION)

8

©d 3t o3y JFNW
(20th 033 Z73 Aw)

VERY SHORT ANSWER (ONE MARK QUESTION)

3 o833 BB AW
( o0 vosd B2 W)

SHORT ANSWER (TWO MARK QUESTIONS)

18

36

Beg svdds B3 -1
(@t 0088 &7 i)

LONG ANSWER -1 (THREE MARK QUESTION)

27

(Toe, &905:5_ &3 rsb)

Bege HuBEa BB rivh-2

LONG ANSWER-2(FOUR MARK QUESTION)

16

(O 083 &g rw)

Begre 2uZBTd BB NW-3

LONG ANSWER-3 (FIVE MARK QUESTION)

i) TOTAL

48

100




esadrecd ;4

(BFA¥ rbeebeyd speod eed wosny Jona)

8,30, 23,1 TE3 QUESTIONS LEVEL Bes@omedi(¥) £308MW
1 el EASY 30 30
2 TR0 AVERAGE 50 50
3 386 DIFFICULT 20 20
2ED, TOTAL 100 100




FTOEENT TOB DE WOLTY, THORY

33,80 @onwes)
2019- 20 3¢ ON N33 orld &P, IYF- 1
(Toe 923 BDEROM) Do BoseS:81K
Fevod: 3rioé&3nied nowmE, e20%:80

L8 ¥ENS FB, RO F 38000 FF,R Soen, BoberodreSH,derdennhcd
J0oherd evddun, e3DA Badesd DARS wBAD. | 1X8=8

1.8 TY¥NS RO NI eagiortiered, 035000
A)V16-9 B) % C)0.3333cue, , D)2 +13

2.SnA= % SE3 LA 3030,

A)90° B) 60° C) 30° D) 45°

3. 20 83,33, YT 30&; 2J0TeIN0R AFODWTBITOR NOR, A, JEERE F0ad;
A) 1 ' B)2 C)3 D) 4

4. OT FOWeIT Jj2us(r), 3T (h) 03I, 48 D30 (1) 33T 9030 e508,& 2308e3, 4 DALERE

FO3I2 B3N B3I
A) @D =1l B) 559.50¢.6) =2 1 (r+])
C) &0.85¢.6d = 2rr(r+h) D) m0.80¢.0d =22

5. P(x) = x* x + k WHOTWERLBOD 2,053 FaS;3 0 2 e3t3n k& S3asw

_ A) 2 B) -2 C) -6 D)6
6. AeJ003T FLB 5,9,13...... & 103¢ B3
A) 36 B) 31 C) 41 D) 21

7. AABC 09¢), DE|BC, DE=5¢m, BC=8cm a8y, AD=3.5cm 3530

AB O o0& 2) 0
A)5.6cm B) 4.8cm C) 5.2cm D) 6.4 cm




8. 2,08 &I ( B )RO233IE0H 303 0.05 €3030M * E 9037 SES0d
RO23TAEODHI000 |
A) 0.05 B)0.95 - C) — D) —

0.95

1L 83 F¥NS FF, 191 ez 03 ' , 1X8=8
9. P(x)=x% +2x2 +x 6. WBIBRLLEOD BRT:3NY F0a3;00:30, 2BAD
10. ax? tbx +c =0 SNER T *FRFT' B33, 2TAD.

11. 2,033 Be332030 FLRBOD BRTWONE B ah3), AT e3sI0sMe) TawedoN 6 a3, 5
e3N3. 3 FRBOD 33 W33y, TOBIRAND.

12, ’@J@@ —-rsms;mséam BeHEOD TR, DTRD.

KWL T IV FADIADLDIO R EINVA TRV (oW a=3qtr eSC3N_ T’ S e, WSNFD, wBAND.
14. Sin 6== &3, cos 6= €3BT sin’® + cos0 I zsesodasa& BOBIDROND.

15. sin 30° + cos 60° O 2330, FOTBIGLRAND.

16. 2,003 BONI T3 £3590C3 T2),T3 S0 e30350e N 10em X 5em X 2cm
ReDE0 B0 PR, FOWIRAND.

Nl 8k ¥F¥NS R,3,191R ev3 DA 2X8=16

17. V2 + /3 2,003 earganiere, B0ads 0T TRA.

18. WA : 10x +3y =75
6x—5y=11

19. 6x% + 7x -10 =0 FeDFTOT aDRONYI, TOTWIRCAND.
: : 2



20. A(8,-3) @303),B(0,9) 220TINT SIS TR T, "BRT AR I 2wFA TOT3ILRD.

21. QT ReDTRE JgHBNE RISFIOD 25cm 5303, 15cm NENes. RBRTEO[OD &%
203 2IVBIIN €IF IR 9em 3733, sDI3R,0RD 2B IPICAT 2I0B0IeI
930D, TOBIRRAND .

| 93539 |
23336), A ABC a3y, ADBC 2,05 @93 BC 0d adte3 gas. AD 0dd BC 0, O 8¢).

3eBR3,03. AL IBC s3>, DM LBC esgary  AABCoIADE _ 40 sy oopn .
' - ADBC d4 95 DO v

22.1 DOW 6 BONS BOP;NFT, Se0RDATE TR FVOT30R oF¥NF),
HTTORS), LBPFIDNT 20teS 203 WNWVNFE), ROBNY 303, 7 8,03
B39, N0YE3 FOPRH NI, FOWIRID.

23.3 cm 5e) Y, 23,8070, FED LWE FLOIZDOT 8 cm BRTWE) B3 200
20T0eII0T 53,37, WO B3 I, BT NYd, T3,

24, cos 8= 0.6 3507 Ssin 6 - 3 tand =0. DO 3D,

€530

(sec *0 - sec?8) = tan®0 + tan 0. DOTD TODA.




IV .8s 2UAS F3,1OR evd D2 | . 3X9=27

25. 2,0 B3, DI,TDOHE R 903 e03), BN 23035 12 SN, T3 DS, 00S0H
333, 3 =, TR e32),T0D0N 1 3THB TS, MRS €3 2DT,T0d0DR,
FOWICTOND .

9330

Vel eﬁo%oi) 2,003 RO3;03 7 B&),, 9630 AR SNYR, HEEN WEL) 0l
e0ERTHES RODB;0 4 BR,F, AeeNG. 908N o3;T0575) 3 €T30, €3 ,-—&osisaima;
FORBIGBAND. '

26. P(x) = x* + %3 -11x? -9x +18, LTIBERLZCD TR BRc;3NF 3 203, -3 e3Nad.
WBBEALZOD NPT TR B3T3 NF, FOL3 SBBAWD.

27. A0S WNRENY JALRENY 2303, 640 m? 203D, IPNY RISFINY 235305A 64m
e3539NR, €3 D0 BWNFNRY WemIny e3¢30hndy, FOTIERAND.

oo

(a +b? ) % + 2(be-ad)x + ¢ + d? = 0 WedIEBTEDT ERRONED TeaI0TdN, actbd= 0 dOTI)
307,

28.P (2,X) 20T A(-2,2) 503y, B(3,7) NP3y, AtDRIES Btaloinsy, e303DTeIoN
 AIeNRIE 9T, TORIGROND Brtodt X & 33000, FOrIDRAID.

[ ZIATrr)

A (2,2),B(4,4) 303, C(2,6) ,0NNF), BRODTII 32323 eI s’
TDHE;20TINF, ALDITIN V083N F2NBTT ALY, TOWIRD.



29, 2,003 53,38, B0 230 DIOIIOT H¥E R IEFNY RSN,

DO T A.

30. 23353, ABCD 313 onineh 63,33 &0¢edad 23,3, BOHO 88cm 3TN
CIRODNRAPAT INTS JALERE I, TOTD oBOWD.

ea_c;im

B3I 303 A ABC O3 A I¢), 0WFEEE a3rdd,
TRODT.AB,BC ab3), AC 2PBINED O FCOTeITE3

2333, A 6T Neones. AB=6cm e03), AC=8cm e373aN,
eSRODRRPAT 3N eJALERFaIR), TORY aoé@cm. |

31, 2,00 MG 100 BRORGE), BTO® K 6030, DATIT RALDD FEHTTO,
SUNT Bt TP NBIIT. T BIVOINOT 90T ITONE Leder Te3 .

P00, P00 BEha30 | 4045 | 45-50 [ 50-55 | 5560 | 6065 | 6570

DRONE F0L; 4 6 16 20 30 24

32. 8 TYNS BIOTIRER ATIRDOHTY, TOBIPRAND.

prIgek: ) 0-10 |10-20 |20-30 |30-40 | 40-50

€553, B EE 9 5 3




33. 399%3 BC~8em 53032, 23,0 4om BT 2WORDd ReBDLI0® vz ABC 0D, G232
N03T 2N3R0T 2w 8373, 98T 2edINE ABC Rz 250 923080 9000

LRBONG = BALTT T23A.
V. 8 YNS &)3,19n 3 DA: 4X4=16

34, FYNS Bte503,T RedITONE BRtBATRN, NT, Tl 0ot WA .
x—2y=0 203, 3x +4y =20

35. 003 REW03T FLBCH p ¢ g€ NI, 1 KX VBN FededeN a,b &3, ¢ RepNES.
a(g-r) + b(r-p)+ c(p-q) = 0 DOTID TODA.

eatdeve

2.0T3) BeSIw030 FLROH WRTWS NPT BHNY &3, 33 NG, WBRTWOK BT
&3, 3 I BWNRY MLHOW ) W3 25 B,03 29 Bwe,NE.3, edw030 Je
oD, BOT BBAND .

36. 9O NG WOT ST FEILLBE S2B0) TK A
SOBER BB IBHOR 10008 BACBODS w0
2I0TNII0T 450 03,3 TRLR3EIR), B0ENSREIBES. o3
D00 TILBE MO, I,TT BT 60° 03,3
TURLTe3R0, GVOES eoRALY, LIFPEIF TR0 RTIE3
T BV, NOR, a0éd, 3OITEN B, DR, D3 T, A
HDF IR0 TOBISBMND. (V3 = 1.73 3cHwe )

37..00038) REHBRE 323021 JALB NS 93)e035) e)NY 93006 woine
SRENRY 90T 3B, RaDRNCIBES 0TS mOHA.



VS BYNS BB, AOR ev3 D2 5X1=5
38, TOTE Y2ss10cm BT 20T RS 3,308 BOBITTR,, 93T 0BT,

N300 03TeeN3e303 BoBedS 9T eDEE), 20T B3RO FZDA DT
nNY T, N eB3RBINGS. ot FZDACIN NOERT 24T, O a0, FOT IS
2R3, TR BEIIT FIBONY T3, FTOBIGRAND.







Foor&ds O3 dF ID(TY, sHorBP
3 ¢8 0o, Yonededs
2019- 2020 3¢ FOS N3 o@D B)F, B3)E-2

Rabod: 3 no&3rieh (Toem 9P DFAOR)  SRob Fos3es : 81K
- noa, esoFrnied: 80

I S 3YNR BB,1O1 Peen, esod,RTR), HBINE. IDOIPE

o3 JEn, 302 s Bde B0 Bers wiohd. 1X8=8
1. Bean3,B RedXeTTONY ShatRNRe) x+y=9 sH3y, x-y=1 &533 x 303y, ¥ 3
23eSodn, | |

A)Sand4 Bydands C) 6 and 3 D)3 and 6

2 120830, €9ed30%; 98336 SN Mreew NN wdcen,

A) 2% x3?% x5! B) 22X 3'x5! C) 2P x3'x5? D)2} x3tx 5!
3. B3R sinC B We3adn, | - A
A) 23 BYV3/2 Q% DI
4. (4,-3) 20T3DeII0TI m@@ 00eIN BT BT, 1 2
A)7 ;m B) 25 &350 C) 5 3 D) 6 a3503

5, 2333€). BC a3

A)ydxs B) Wy  C)aoesA D) EIT

6.2.003) A2dR03T FLROD'n’ ¢ BTWe) 4n-1 3T 9RT 8 It W)

A)32 B) 31 - (0)256 D) 255



7. 9ON G oF 303 26 SFONYN, TBENYE), F3sLFaon Wi
(03 e9F0RR0, DSTRRSERE) 2003 &e3,I0he), Br3ewNs. |
[EOOT  0390T3,23.FedoN 2.0R) TIBERD, 3DATN X,0070Neh 23ees
(N ONA T TATAINI(OV VTSN

3 5
A B) C)= D) =

8. 882333, O3, 3 TALS “6” T3 ¥ 33N

A) 30° B) 45° C) 90° D)60° 2

V3
I & 2¥NS B, NeR end D 1X8=8

9. 2433, 36 DOW NTB ROBNF ©.70.65 &3 48 L3IV BTIT 2. A0.89
23530, TOTIGLCAND.

10, x4 Tx +12 =0 S SWNRERIFTOHT wRDRORYI), FOIRAND.
11. sin 90° + tan45° 03 233 TOTBILAND.

12. (6,2) 3303),(4,4) WOINF, FORIE BLaeH0rBE eiss 2J0T3edS
ABCETROBTNT ), TOWICLOMD.

13. A 03 20003 035013423, e33R T S €SN, P(A)PA) =1 2, 88T
P(4) 3, FOBIGLROND.

14. 2,003 83,33 AZF 30D T3 JALEIET, AV0D;TadoN ﬁﬁ)mmdmdej
3,30 325 TOWITAND



15. Rt TS PP FOIGTROIMNE ATy, WBCD.

16. ‘07 TLOT) eV, 2OT) 83,303 3OO 24 cm €3NI, €3 23,33 2OTH
TORDOTI TR, 03 pies FRSe 30° e3NTT, FORE eNise3xdd,
TOWIRAND.

A
q ?
B
L. 8 ¥¥NS I3, 91 en3 DA 2X8=16
17. 7 +5 2,053 e9230mer2), RO 0T 3002
18. BIBE, XY|BC, AX=P-3, BX=2P-2 503, 2 = T 3630, P S 330,

TORBIRRAND. - c

-

eSP 0
233 3D, PCJQK 2>3), BC|HK e31\z3. AQ=6¢cm ,QH=4cm HP=5cm
203, KC=18cm €338 AK 03y, AB o 23e3chy,,

FTOY oOD.

19. 88 FYNSHNY Aveoct Comedn, WBOD.
0. 03T WBIRTBHCS.
9. BB WRITERCE,



20. 4cm 3y24t3 2WwOT 33,33, 9130 FCOTHDOW 8em T3RTW).BIE3 2305
WOTINOT T B BETNYI, FOND.

21. a 203), B ieh P(X)=3X2-12X+15 BB T 8,0D Sec;3neenss a?+p? &
233 TOWITOND.

22. BED3E5,T FOB DTS 2,06 O T BT T SOWE,
B3 B3 20TBHOTI W3 m BRTBD.BIES 2w0r OIS, evoéserives
0,3 BRETED) 600 N, BEBE 230 FORIBRBAND,

e P
2333¢). 3RDATIE03 WO FoTedS 8l 3T 8ecm SN, W3 i
F,0n FRESe) 60° 353N BOBIN TORE W0sRadw, FOWIRBAND.

Y ﬂm""ﬂ

Hom

23,2333 Y255 7em 9BE303 'O’ FLOTYHITIE3
3,30, w00 O B0 FLOWWE,
300 BRtSe3™, S00ENERREBITE . BT IR0l RPAR |TIed LNt
DRLEIE IR, BOTBY 2oAND. '




24. 2,03) T 3,370 AO0BOS ToF,E afed, ; RLBE Y 440 cm? s3I,
9730 3,3, TDIELS 25559 7 €M L3NS, MRS ADOBOR  FSHO,
FOBBYLAD.

IV.&k ¥¥NS &8, 191 3 DA . 3X9=27

252,000 B8, 23,0030 €203 503, S3eEnPr 3 3o, TRRATRN €3 D,

11

0o30%0 = eTHI T, 53t LIR,0eB0D 903 3y, GBS0 31,393
D,00I0% £ e3TH3ITI. €5 BF, D, 00B0H, FOBIDEBAND .

EIama )

10 BRENF 20PT X S BODRY, YRS B30 0BT, 333,
10 RENY 0T X F 230HA, Y& S80HAS 6 Sae,M3R. enei3s
92302, 8 &NS 230 R, NP, TOWICRAND.

26. QU F)ediodin3 B emer0TNnY 3NeNe 3,032 365 €3133,83
BRPBOEOTNT, TOBIRBAD.

27.(-2,1), (4,6), (6,-3) ALLETROTNE) BT FHONNYRIT, €3 J20wid
IFI0DR, FOBIBRAD. |

I3 eI0

20000 ReR03T WALNEHE &0e0) FoNNY OTSETVOTING) Faheion
A(1,2),B(2,3),C(8,5) 338 43¢ )0 220T0ed OWLETROTRYI,
TOTIIC AN,



28. ‘53,378 DT OIEHTI LIOTNINE), DFH FIETD) , AFE 2I0BIITE),

NFT 3255T, VOWNIT. O FDA.

29. T,FE CeBE) B33 2,003 T DOBE 0 2000 833,33
A3F3nH FEdeden 44cm aoao 8.41 cm NG VW3 e3¢ 14cm &30, oS

DHOBEE), 30203 23, N0, Bevocessah, FOBIGLRAND.

e

R0t 32sa) %, WOl FO® 3, WOTD P NeLFT,30D 30te3 B2
20T e3E3B0DT, VBN, BOBI TR 205589 Bom eH 3y, DIV 4cm
BE.B.563F0D 3063, 4 DR, BOTBY SoLD.(x = 3.14 IREEAL)

C

30. SEOH FEHOOTS T2 5X+Y=17
2X-2Y=2



31. TPREFON 50 FORMTT LZS0RS e300, 88 FYNS I3TH0odw
LB

BySoDS e3m00D(CR) | FORMTT RO;
100-150 15

150-200 2

200-250 10

250-300 8

300-350 5

BSOS DITBODR, T YULES LTINS AOWI €353,37F W3RN
203, 9T £.220a3° DT AND . | '

32. 2,0T AXWO03T FLRODH VT N BINY Be32P 210 20 3), BT
(n-1) BEAY SRIe) 171 3NE, BLHODH BAEBOE Ve 3 3001 €3
Ree030 FRBODR, 22TALD.

33. 22,70 3, TSI, A AFDOT 150 33T BRTHE) Boes B 3,97,
HICHBE BRBO, D2, H: B G003 A 1 030 b, §am
2o03TaTLEIeN MOE3NR 10 33RLACEIT® Bed,S we3BRODT ACHR),
BRAVONOI 30 DeNR/AY TRRD TR, INTWITLOW IeNT)IaS.
TR0 L9e3rd BRI WL IRTNTROT 2y, T[T,

. BORIORAND.
. 330 7

WO BHIOT), AB 23, P Domny<h, wodd R0 Stedabe), B 303

MBIIFLRNG. A e03), B Y Jr0edS Buoded B a3, P Ne Stdreds

BRTE,03 2 ¢ BF,NGE. Tone A ah3), B e SIS BeTsd) 10 €

e3NTS. ABC3 3523028 ABP O e3o®@ane’e) nde, euEs g3oNG. Tenedd 3230

ABPO ©0208aLS 3)530% esondode @Owocﬁm& aﬁFﬁ@iﬁaﬁﬁdéacﬂ YO AL

emaid&raﬁ?\?o FDREA. Trfodt AP 03, BP MY e2¢/3ne?ad, 0031%05A0D.



V. 8 F9NS 93,191 evd DAD : 4X4=16
34, 2,003 AEIP0I3T FLROD HWRT 8 BWNY 303, 136 203, IIT Ve
15 BENRY WONS B33, 465 330 FLHROD B30T 25 BENRY B3I 3D,

TOBIBOND.

53539
2,003 Aee03T PO 538 ah3), 953 VLN 3,68 ,40 Henie 833 a3y,
1438 BENY D303, 64 &3NE. 03T FLRod LSee 20 IWNY 303,
TOBIBOND.

35. &% YR Bl Bred BI0INY BT 15 3N, BT ATIADORI,
TOWIRT, 2DTO0T , ATIAD DI, WHTIOT AOWORNY RT3
AB3I) WPA TT aDR;0T FORBIRBID,

SMeF030 : €353,

1-5
5-9
9-13
13-17
17-21 1

oo b DI =2

sin@ 1+cos @’
36.

= 2 cosec B 0T TRA.

1+cos 5in6

37. wWmINY emtﬁm 8 A0.eE 2DIY, 6 AO.eNE ( TEIE 33, BATIBRA)
BT 2003 DOWTRLS 3)zdwes3, BB AD, S03T ah3 050
e300, 9T LIPDTINGD 3R WL 9T RR

WDBINE 7 G, CHE03 T2

VI, 8 NS &8, 191 en3d DA N 5X1=5

38. B, PONCT & ISBED BEReeDETRY, ICHDAD 3D, PO .



BoRrils SR DEo BOE, HOBL

203 £8.00 Woneedh
2019- 20 3¢ IS N3 kD BB, BIJF- 1
(52FN a3 HFNRPN) DROD Joa3e3:81K
Badod: 3M08,15dD 19w, ©08 :100

L8k NS ®BZ, v, Fdddweord FB,R Toen, Boderohne’s),
BN IDOIPE 03 0@y, ©DL BHPFC BHBS wEND.
| 1X8=8
1.8 39NS Mo ne’d), egsaniedwy, F0a5,030
A) V169 B) % C) 03333, -~ D)2+143
2.8inA== 6008 LAS Y3y,
AP B) 60° C) 30° D) 45°
3. 2,000 8,33, 90T 20B; 2I0RIII0T DFODWTTE RO,
R BeBne "o,
A) 1 B)2 C) 3 D)4
4. 2,03 BOBIT Ys(r), 93,0 () 593, &3 033 (1) SE3 9333 ToB,e
eRE3, 4 JALEBE FORBIGBOINT BRI
A) o3 ed=mnrl B) ®9.5308.60 = 2 1 (r+])
C) 959009 = 2mr(r+h) D) 530330800 = L1

5. P(x)=x* =x + k WBBTEALEOD 2,000 B3 o 2 e3t3en 'k’ & 23e3cdn

A) 2 B) -2 C)-6 . D)6
6. Ne030 Feky 5,9,13...... S 1038 B
A) 36 B) 31 C) 41 D) 21

7.AABC 0d¢), DE|BC, DE=5cm, BC=8c¢cm a3, AD=3.5¢m 3533

AB O o003 53 _ °
A)5.6cm B)48m - C)52cm D) 6.4 cm




8. 2O TS "E'A023e30¢CH 3030 0.05 e300 'E &9 53" sv&d3adh
TOYATATNIOVWETO VW)

A) 0.05 B) 0.95 C) D) ——

II. 81 YN B, NP1 en3 DA 1X8=8
0. P() =X} +22 +x 6. WRIBHELL0D ZOR; 3N ROIOD, BN
10, ax® +bx+c =0 WRERNCBOHT "B 5330, 2d3TND.

11. 2,0T30) Bedie03T F)tTe0d RBRTWOIC VL3 eI, ARelios s3sdosAey) Teveoen
6 203D, 5 e3TIoN, &3 FLTO 3K BWI=), TOBISBOND.

12. ‘a0 FeSorNeo330d a3t a3 3, OBRDA.

13, ODRE L3, 2I0M0TO0 L9DEEICH a=3q+r1 SSWeN_ T S QL)
233N YT, WBAND.

14. Sin 6= a3, cos =2 €STT sin’0 + o5’ & WSODR, FORSBAND.

15. sin 30° + cos 60° O 233D, FOBILBCIID.

16. zuodo 30038 PIT S SFTO0E T, SD0RT 303N
10cm X Sem X 2cm NE3, 9630 @¥merssm, BOBIGHRAD.

I e NS F3,n19R en3d DA _ 2X18=36

17.02 + /3 2,003 e9g3pneny, 8083 0 Aedd.

18. 282 : 10x H3y =75
6x —5y=11



19. 6x* + 7x -10 =0 FeLTORT eNRONY, TOWILRND.

20. A(8,-3) e032,B(0,9) 2D0TINY SIS BRTE33),, BT B3I 0¥
FORICEOND.

21. O3 BeNOAE LAY MIBFIOD 25cm 203, 15cm RFaNed. BRTOIOR
" JENHTT 20T LTI LIP30 Jem 30 IR0 31233 @Kﬁad@ﬁ

2D IF B0, FORBILBAID .

- - ogme
@3S, A ABC a3y, ADBC 2,083 #5083 BC 0D a3ite3 |&3. AD 030 BC 00y,

= ' AABC sI5feF _ AO
0 3, 3eDAIL. AL 1BC 03), DM LBC estyon o580 Sarmr = bo

O FRRA.

22.1 20T 6 30N AOLBNMFRDD, SeEHRDATIE DTRY 03,803 WoFNFIy,
@é@@cdeﬁm UCYP RSN, &0 20303 Ny, Fo3;nY LBe3, 78,03

T, NTYed F07I33IC0DH 30D, FOTBIGERAND. -

23. 3 om §e5a) ¥, 53,3331, DFE, BET FLORDOR § cm BRTHE)TES 0T
20320 83T, WO B3 & Jr7 N, T3AD.

24. cos 0 =0.6 e3C30N Ssin 0 - 3 tan® =0. DO 3D .
o339

(sec *0 - sec’0) = tan®0 + tan *0. DO FODA.



25.

26.

27.

28.

29.

30.

3L

32.

24,36 303, 40 &0.50.89 eI, ©.70.89 NP, Y@ S IPOSDOT
T0RBBAND.
4X2 -5x +3 =0 FRER ATV e PONY F 2ioes a3r3), FOrBIBRAD.

AABC 03 LB=90" 533, AB—6 c350~3Neh Tanie AC=10 303N e3ten

Cosh T3 23€3 FOTBI0TAID. : \\

"0’ FOW) WY, 23,3T), 30;AE 20T BROD ITET0TEY) (4,-1) eH3IY,
23,80 (1,-3) 3TN, 0sRE ENIROL BAILCH DTRETVOT

FOTBGRAND.

20LEBDOT 310 ETIE 2,03 BOBeIS R T J)2s 6cm a3, 3,0 24cm
e3NT3. BB, FONA 2,003 RetPedoe,N eRBORNG. TBeMeET RBlYE
82,5310, BOBIBBAND.

0B 3,37 J24559 bem sH3Y, 259,030 BOBE oL 60° SNE3.

3595030 VOB edALDEF I, FORBY oBOID.

AB=8cm 00303 2,003 TLaD 0B, P,
B, 3:5 B e90a303TE), I2IoNA.
5 o 25sT3 Wy BT, ATETNY SIS TRl 60° ¥Tre303 2,003 Be3

R BEBne=h, 08,



33. B FYNS BT 0INY ATADODTY, TOBITBAID.

X=25,28,45,30 303237

34, Red0030 JR&e 5,8,11,14......... O BRI 24 BWNY 303300, ARIT3
ATOODDOT TOTIDLBAND.
IV. &8 F¥NI &,8,191 ensd DA 3X9=27

35. 2,000 B3, P,00d0DH ) S 903 203, BN L[y 12 e3NS. Sk
23,0030 3033, 3 Ry TRDTN 32,0003 ¥ 370363, a3y es
3,000, FOBIBERAND .

Zlamr)

PT@ 90803 206D A085503 7 B, L9TT0 Ae,SnEady, eorden ew
el TN GLOE3IMIES ROS3;0D 4 BB Ty, Aeh~veNG. 0INY 2333058 e)
3 €3%30, €3 A0S0, FoTIGBAND.

36. P(x) = x* + x* -11x% -9x +18, LBIBRVRLEOD TR B3N 3 23, -3 esNe3.
maﬁa@cﬁ@(’&cﬁa NPT DT B3 Y, TOY SHBAND.

37. DO WRENY DRALHETY 33003, 640 m? 523y, IINY RSPINY 53,39,%
64m €30097, €3 DTV BNFNY 230TINE 9F¥ 30, FOBIGLAND.

(DI ATAT)

(a? +b% ) x? + 2(be-ad)x + ¢ + &2 = 0 FeIAFTTHRT RO Fededetsen ,
ac+bd= 0 Q0T 3D,

38.P (2,X) WOWE) A(-2,2) 33, BG,7) Rey, Ad=as Stadoha, es030Teen
)TN EIE LINTOZaT I, TOTBIGEND.Teriode X & w3e3oha,
BORBIZBOND. |



es3ad0

A (2,2),B(4,4) &3y, C(2,6) Zonny3y, BRODTIES,JP0%ES womine’
TN OTINF ), ADATION SV0EZIT eWTT I ALEE 3,

FOTBITBOND.

39. 2,000 3,38, W3 W0 LWORIIVOT AFET A SN
Re33ewNCIB . 0T MDA

40. 2333, ABCD 3N 01N 83,33 e300 63,3, 80HOH 88em 3TN
6R0HRRPAT 2IONT ALEIF TR, TOL G lADD.

latap)

233TE). A ABC 0 A ). ©020%00S B,
DBRODTI.AB,BC e303), AC 2303NM &

O FOTedRND 3,33, A JET NYONES.
AB=6cm 53y, AC=8cm €3307, e30CHRAP AT
IONTS e ALEIE TR, TOLD SoRAND.

41. 2,003 MR 100 BRONYS) BB,0° 1 03 DAV RetHOD
BPEOODHR,; BENS BRCE,Tad) DS, 5 BIV0BNPR DT JPOSE

2,2050° T3A .

NI B30 Qehe3D | 40-45 45- 50 50-55 55-60 60-65 | 65-70

16 20 30 24

BRONY 0 4 6




42. & TPNS B3 0INPR ATARDODRT, FTOL3ILHLROND.

BMRFO3T 0-10 | 10-20 |20-30 |30-40 | 40-50

€353, 3 5 9 5 3

43. o7 BC=8cm a3, 3T 4em Y 2,083 Rebd, 23086) 3)2322 ABC CH,
Be3A. S030 203 L0050 32302 a8, T30 Ie@INE) ABC Fehdd 25088
3230273 ©9VTVRT LTINY - O&,Be303 23,

V. 83 3¥NS BB, RO 03 DA 4X4=16

44 FYNS OLa03,T RedXTOLNE BatBnes), 8T, Teodow DR .
x—2y=0 a3, 3x+4y=20 -

45. 2,083 Be30030 FEBODH p ¢ gk DI, r ¢ BB BaDatonN ab sy, ¢
NeaNes. a(g-r) + br-p)+ c(p-q) = 0 DO DA,

- o
2,0T) AedR030 FLBROD BATWD e0RTB) BHNY 303, 33 &3N3, BRTWOIE.

BB 0By, 3K BWRY MHLOWEY) BT 2 3¢ IE8,038 29 B9, NE.3,
AedR030 Fthe 0y FOWY olead .



46. e5TPEIFIONTIET WO ST TELBE BoDC3N,e9T3¢ A
SOTOR FELBE WIBDOT 10026 BRTW T3
2,003) 2)0TeI)0TS 450 03,38 BRI,
DOENIIVTBIZ . €3 LWOTNWIOT FELBW MO,
D30T BB 60° 0,3 TSI, B0 sToBIN,
e9FPEREFRRORTIE T, B3y, NDR, e33€d, 3TN e
Y3y, DR, 03TT, DDRLCFO FOWIGLBAND. |

47 DT ReNBRI J2nwNe JALLFNY 9 @o3e) LWeINY 9B
WRTING BNENY e930e003T, AN T D0 AeDA.

V & 39NS &8, 191 o3 DA | : 5X1=5

48, O )2u510cm BTIEI 2O ST 83,3 5503 BOT 83130,,89T3C AW T,
R5300003CONTTOZ Bomed eITT aNFHBE), 2O R IOBOT
33D2 HORY LRNNT TN SRBERNG. 2tr B3DATN 0ERE. 133,
Fom :03), FOMeIR WT,TEW SN FRRONY 90 Iesndy,
TOBIRAND. A




Boor 8T FOR 9T IDCT, eHoBP
S¢8,00, Wonwled)
2019- 2020 3¢ FPOIT N33 WD BB, BYF-2
Babob: 3 M0sd 15ADR (RN PDFRDPR)  HRod Bosde3s : $1K
no=, eosned: 100

L S FYNS FF, 191 Toen, e30d,N¥s), AtRBenndd. 3Dodend
e OH™), 3D e9r0 Fedse FO BB w30, 1X8=8

1. 3ta03,F RedXNTOeINF B otlned x+y=9 s03), x-y=1 B33 x a3y, vy 3
333y,

A)5and4 - B)dand> C)6and3 D)3 and 6

2. 120830, £92d230% WIBE SN THeaeW, NweN wIwen,

A)2* x3% x5! B) 22X 3'x 5! C)2°x3'x5? D)2*x 3'x 5!
3. ¥IWE)L sinC & 33030, | R
A) 213 B} 3/ 2 O% D)1

4. (4,-3) 2I0TIVeI0T 20> 203D [T BeTed), :

A) 7 @3 B) 25 23508 0) 5 23333 D) 6 a0

5.2333¢), BC od»

lal

A) s B) Wy  ClavogA D) eX3T

62,003 ReDOIT BLBOH'n’  Wad 4n-1 333 BT 8 ¢ BB

A)32 B) 31 C) 256 D) 255



7. GON G 23e0F a30e30D 26 BFTVRYRD, ToRENTL), &)35{Te00N 2T
| (0359533 LIBTEIR, ST IERR) wWwORD BN, B3N,
[EOOW 03900, 23,Fe0N WOt FoWE ™D, BSDATIN & 00g0Ned V(S

(Mo NA T TolARINI{WCTOWN
g B) = ) D)=
8. B 2333¢), 0,3 TR “6” &3 9F 3080 : A
A) 30° B) 45¢ ) 90" - D) 60° 2
1
6
B
VE]
.6k FFNS FB,1918 ew3 DA 1X8=8

9. 24 5D, 36 DOW DTRY AOWBNY ©.70.89 5 48 3T LWV 23.7w.¢9
230, FOWIBAND.

10. x*+ 7x +12 =0 88 B3RER DT eRONF R, TOWISRAND.
11. sin 90° + tan45° o3 23e3 FOBIdTAWD.

12. (6,2) 33),(4,4) WOTINPRD, ADRIeT FRADOTTI a5 LOTIeI
DREETVOBTNYR, FOTWIERHOND.

13. A O3 2,003 0330T3,28,,F O3RN &3S esN3y, P(A):P(A) =1 :2, €338
P(A) 2, FOWIGBAD.

14. 2,0T3) 53,333 R3F 300 €9T3T JALERF T, AROL;TeToN AededoNS T e3
3,33 3z TOWIGTBAND



15. RRLYE HRHO TOmbROHIE Ao, B0,

16. ‘0 BLOW) VY, WOTD 83,3 FDH O 24 cm e3AL3, €5 33,33 2.0
TORDOT TLOWBS, evoéienias FatSe) 30° esNE.J, FOAT eVts z3:0,
TOTIGRAND., '

111 8% B3NS 13,1 OR w3 DA | 2X 18=36

17. 7+ 5 2,003 e9279ne2), AO83s O 3D,

1

18. 2333, XY|[BC, AX=P-3, BX=2P-2 a3, £ = 3 5633, P & e3e30D,,

FTORBIOOND.

530
233 3. PC[QK 23>3), BC|HK eﬁﬁd. AQ=6cm ,QH=4cm HP=5cm
503, KC=18cm ¢35238 AK a03), AB 0 3e30y,

FOBY LoD,

19. 83 TFNTINY Reedod; BRI, WBOND.
0. 303, T WDIBTDRLE.
9. Poe3.T WHIDBELYE



20. dem Bj25T3 20T 3,33, L9530 BLODOR 8em BRTEE).TIES 23958
DOBIDDOR BB B IFE BT, DBAND.

21. a a3y, B Reh P(X)=3X2-12X+15 20@IR e300 3oxs3neorss a2+p2 &
2363 ForItAD. '

22. Be03¢30,03 SOr e0D0as 2,05 0 FELRBT SRR 9Tt I,
BELBE WOBOOE W3 m BRTHE),TES 20 LI0WIITL), B0oéMIE
03,3 BT 600 eSNTS. BE3LBR 030 FORIBLRAND.

(ETATaD]
2333, 3RLDATIZ03I 2,000 FoBIN tWl 3T 8em SN, BT 93
2,07 Betad) 60° e3030n BTN TOWTS 2905Ra30, FOBIBRAND,

23. 333, Y2ss Tom 9Te303 'O’ FOTeITHS
23,3.3¢) 2,003 BORE) BT FLoTE),
300 BRETS, CLOENTREIZE . TMRT RONRLPRE BT 250N
JALERF DR, TOWY olRAND.,




24. 2,003 B0 53,3,70% ADOBON WoF, a3, 5 AL s 440 cm? a3,
eITIT 23,3, WA s 7 cm e3NTS, TaMaB38 AA0BDT PITOT,
FORIROND.

25. DXFE ¢IMeTR0 FEDTFR, BORT — 90N GRnew, FOD;
O3 3EDA.

26. 22BA:  X+Y=8
2X-Y=1

27. 2,00 ABWOIT FLROH VAT B3 3 303y, 10 ¢ BHY 39 eseven
FRROD VAR 10 ITRY B33, FOBIBND.

28. A 330,38 0T &30¢e3 20T FOLS, ©0WeTIN D) FeIDNES. T3t
SO 23D 2,003 WO FOWT HBOOT Bm BRTTBARD, 03
20TNIN0T TOWE SNt Bv0&3NEs 0,3 Telced) 60° 9E.3, SOt
wDEDT L0V FowE DB thaEs Bededsd, ToBIBRAD.

29. A(-6,10) e32,B(3,-8). 20ToN¥=, ADAIEI Ttave O3, P(-4,6)
20T e303DTET0N ILNRIE e9NTOZT3), TOWIRD,

- 30.2,00) P FoBWIT 230 14 cm DS, WITT 3,350 Jjzsed 7 cm
e3NTS. 88 BOBDEIRN, TONA 2O P WFENRBLY BTN DD I NG,
HOMOT0 IFFNRANFTT BT Jjesse3ndyy FOWIBAND.

31.10.50m 312350003 23,3 T3C), WOTD FORE) 33,3, FLOWTE), 60° I3,
RTJELATT, 3 TORE N3, TOTWICEBOND.



32. AB=6cm VGRS 3taTe DO, PR 9B, 12 B 9dee3we),
ed2 50N A

33. 3cm &255edT03 WOT) 33,33 WO C3TREHTE 2,07 WOTITE),
= SETRR, Ted . |

34. 1 00T 6 V3071 FOFME R, SeeddATI3 OB wotd FS
DT, WBPRONG. e3O FBDED, €9:J2T0%5 BOBs 22T
2023303, FOIRAND.

V.8 BNS BB, ADT w3 D2 - 3X9=27

35.2,003) B33, 23,0020 €903 203y, 3eBAPR 3 Dy, TRRATON €3 P,
Codoh = OB, 953 IB,0eI0 €203 T3, BP0 3,FYET

DF,00300 2 6533, &5 B3, P, 00D0DT, FORBIDBAD .
(DlAfan)

10 BRETNY 0PT X S =ODAY, Y™ S30DA,S QOBORY, ¢33 3.
10 BRFNY H0TW X 3 BOHAY, Y3 30D A,< 6 Jewe,H3 3. aneSs
€923020,0 BN BWODAI,NF R, FORBIGBAD.

36. T Teoin3 B e 0TNY SBNENY L3032 365 €303, 03
DPHICOTNRF I, FOWBILRAWD. '

37.(-2,1), (4,8), (6,-3) O TOTING 2 wB F,onnewrs, €3 31230%T3
F3¥30DR, FOWITBAND.

(Llaran)



WOT) AeW0I0 WBIALNEHE R F,onNY AECET0INS) HalsTon
A(1,2),B(2,3),C(8,5) e3T3T 43¢ 3,07 2D0030edS JEETOTRTR,
FORBIGBOND.

38. 23,31 DR 0IeHTH ORIV, P A BEBaY |, ®,IE LIOEIITE).

DFT 2T, LOWRNDI . 0 FDA.

39. PTTR TRBREE.TIE 2,083 Bd BORE DT WA 23,353
AZFIN) TedeseN 44cm 203, 8.41T cm 30T AET e3¢ 14cm 33, Too
DOBTE), 3302083 58, NOR, &)edioceednd), BTOBIBRALD.

14 cm

eaqiaré

AEDVITS 256 %, WO JOB &3, WO BFE Tetwa 30 23063 Btk -
WO e383TODHRD, BRBRNE, B0B IS T osaseY) 6em e03), 03T 4em

[T,T.e383F0D 2308e3, 4 DALERFTIRN, FOTY BNV, (1 = 3.14 IRTHBAL,)

C

40. SZOD FEHBO® DB 5X+Y=17
2X-2Y=2



41. TR0 50 TORMOTT ;S0 350003032, 8% TFNS IITEFadn
LT3 .

B30 e3meod(Be) | FORMTT 08l
700-150 | 115

150-200 12

200-250 10

250-300 8

300-350 - 5

DR DSTBODHD, "BReD BT PG’ 03 €353,378 WEPONL
203, T3 BT FCD . '

42. 2,000 Ae3oIT BLBPOD BRWL n BEINE BS5033Y 210 2B, BRTL
(n-1) BANT B3P 171 e3NE, FLBOD LBRTBOI Br3ed) 3 e &3
RebeoIT FLHpoDH, w3AND.

3. 220,53 33, FOOIE). A ZLFDO 150 $SLIET* BRTBE)THE B 3,97,
DTCABE w33, FeDd, . B AOOW A R 03TIMITS. Hadrdd
20330MHEN HOEST 10 $e3LEIT* Bed,S waBHOT AaH,
BABONCE 30 DeldRBAY BT TOOE, INTNELOT) B TS.
TOMIESC edndy @WELN md@a‘éﬁmﬁfaoa 2,830, T,
FTOBIRBOND. |

5330



2,003 FeDIOB, A.B 23y, P OBNFRD, 2,083 ACY Stadodd), e B303
M3RSING. A &3, B R¥ J30edn Bueley) B 23, P Y S0l _
T30 3,03 2 ) 3B230,NE3. Tone A e03), B 1Y dc"aaof)é Be0sy) 10 e0¢
&SNG3. ABOD $23025 ABP O tom@onye). ndaR, ents soeNG. omess 8230

- ABPOD) 0208 12352 e30N03R 20203, a3ne BeddtFTea S5
ITARENA FehREA. TR AP &03), BP RiY e993ne’s), 03238000,

V. 8k #¢NS &8, 191 ev3 02D : 4X4=16

44. 2,0T3) AeIW0I3T FLROD 33 8 BTN 23403, 136 eh3), 938 VLT
15 BTNY SONS 583, 465 W3 FLROD BRB 25 BTN 303 a3-00,
BORI2RAND.

€939

%O Fed003T FLROH 53¢ 203, 9 BENY 3.03,40 cene 8:3¢ ah3),
143t BERY 303, 64 B3NS, Fe37003T FEHBOD BREE 20 BHENY 35,63,
TOBICLAND.

45, T3 FYR Tp3,0red B3 0INRY wBOOTeY 15 SNES. YT RTIARDODR,
TOTIDRT, BNPI;0T , RTIAD B, WHBIOT BOWOFNY RATT3
BRI WFA 9TT eNT;0T FORBILBAND.

RMEOIT €353,.3,

15
529
9-13
1317
1721

—| ol I P




sinB 1+cos B
46 Ltcos®
1+cos sinB

= 2 cosec B QO MOBA.

47. WRBING 0TI, 8 F0.eD€ DY, 6 F0.eDE ( FLIE 330, BRTBFLA)
90383 2,003 DOWTRES 32302530, 5520, 03T eHIR0ED
23R, BT WeBINE VAT 3BT 9DTRH
2RBINT - TR, BH0F T3,

VI. 83 9N &3, 191 en3,03 5X1=5

48, S, DNTA & )3t @EHtoDTT, DBRDAD eI, FeDAD .



CCE-RF
KARNATAKA SECONDARY EDUCATION EXAMINATION BOARD
Malleswaram, Bangalore
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Subject: Mathematics , MODEL PAPER -1 Subject code -§1E
Time:3 hours ' {Regular fresh) Maximum marks: 80
I In the following questions, four choices are given for each question, choose and write the correct answer
along with its alphabet: 1x8=8
1. Inthe following numbers, irrational number is

8.

A) V16 -9 B) % CY0.33330mnn.. D)2++3

[fSin A= iz, the magnitude of £ A is

A) 90° | B) 60° C) 30° D) 45°.
. The maximum number of tangents that can be drawn to a circle from an external point is
A) 1 B)2 C)3 D) 4 '
The formula used to find the curved surface area of a cone of radius (r), height (h) and slant height (1) is
A) CSA=mnrl B)CSA=2m(r+]) C)CSA =2nr(r+h) D)CSA= ”—Tgﬁ
If oﬁe of the zeros of the polynomial p(x) = x> —x + k is 2 then the value of k is
A) 2 B) -2 06 D)6
The 10™ term of an A.P. 5,9,13, .ovevvonne.. is
A) 36 B) 31 C) 41 D) 21

. In the given A ABC, DE || BC. If DE = 5¢cm, BC = 8cm and AD = 3.5cm, then the length of AB is

A)S.6cm ~ B)4.8m C) 5.2¢m D) 6.4 em

The probability of an event * E" is 0.05, then the probability of an event NotE' is

A) 0.05 B) 0.95 ) 5% D) ﬁ |



II. Answer the following questions: , Ix8=8

9. Write t.he number of zeros of the polynomial p(x) = x° +2x2 +x +6.

" 10. Write the 'discrimant' of'the quadratic equation ax? +bx +c =0.
11. If the first term and the common difference of an A.P. are 6 and 5 respectively, find its 3™ term .
12. State Basic proportionality theorem. '’

13. In Euclid's division lemma , ifa = 3q +r, then write all the possible values of r.
14. If Sin 6= % and cos 9=§ , find the value of sin?6 + cos?0 .

15. Find the value of sin 30° + cos 60°.

16. A solid piece of iron is in the form of a cuboid of dimensions 10cm x Sem x 2em. Find its volume.

III Answer the following: ' : 2x8 =16

17. Prove that V2 ++/3 is an irrational number.
18. Solve: 10x +3y'=75 and 6x — 5y = 11
19. Find the roots of the equaﬁon 6x2+ 7x -10 =0
20. Find the distance between the points A(8,-3) and B (0,9) by using distance formula.
21. The perimeters of two similar triangles are 25cm and [5cm. If one side of the first triangle is 9cm, find
the corresponding side of the second triangle. o
OR

In the given figure A ABC and ADBC are on the same base BC . AD intersects BC at "O". If AL LBC and

DM LBC , prove that “e4-0C848C f’l,_\ o

22. Two cubical dice whose faces are numbered 1 to 6 are rolled simultaneously once. Find the probability
that the sum of the two numbers occurring on their top faces is more than 7.

23, Draw a circle of radius 3cm. Construct a pair of tangents to it,from a point 8cm away from its center.



24, If cos 6 = 0.6 show that 5 sin & - 3 tan0 =0,

OR

P.T. (sec 0 - sec?d) = tan’0 + tan *0.

IV Answer the following: 3x9=27

25.

26.

27.

28.

29.
30.

s

The sum of the numerator and the denominator of a given fraction is 12, If 3 is added to its denominator,
then the fraction becomes Y% . Find the given fraction.
OR
Seven times a two digit number is equal to four times the number obtained by reversing the places of its
digits. If the difference between the digits is 3, find the number.
If 3 and -3 are two zeros of the polynomial p(x) == x* + x* -11x? -9x +18,then find the remaining two

zeros of the polynomial.

The sum of the areas of two squares is 640 m”. If the difference between their perimeters is ‘64m,then find
sides of the square. OR
If the roots of the equation (a2 +b? ) x? + 2(bc-ad)x + ¢® + d? = 0 are equal, show that ac + bd = 0.
Find the ratio in which the point P(2,x) divides the line joining the points A(-2,2) and B(3,7)
internally:Also find the value of x.
OR
Find the area of the triangle formed by joining the mid-points of the sides of the triangle whose
vertices are A (2,3), B (4,4) and C (2,6) o
Prove that the tangents drawn to a circle from an external point are equal.

In the figure ABCD is a square, whose vertices lie on the circle. Find the area of the shaded region, if

~ the perimeter of the circle is 88cm.

OR



A ABC is right angled at A. The sides AB, BC and AC are the tangents to the circle with centre "O" as shown in
the figure. If AB = 6cm, BC = 8cm, find the area of the shaded region.

31. The following table gives the production yield per hectare of wheat of 100 farms of a villagé. Draw more

than type Ogive _ .
Yield 40-45 45- 50 50-55 . 55-60 60-65 - 65-70
productivity | . 7
Number of |4 6 16 20 | 30 24
farms

32. Find the mean of the following data:
C.L 0-10 10-20 20-30 30-40 40-50

frequency 3 5 9 5 3

33. Draw a triangle ABC with side base BC = 8cm aﬁd altitude 4cm, and then construct another triangle

whose sides are %times the corresponding sides of the isosceles triangle ABC.

V Answer the following 4x 4=16

34. Solve the pair of linear equations graphically: x — 2y =0 and 3x + 4y = 20

35. The pth, qth and rth term of an A.P. are a,b and c respectively. Prove that a(q-r) + b(r-p)+ ¢(p-q) =o.
OR
The sum of the first three terms of an A.P. is 33. If the product of the first term and third term exceeds
the 2% term by 29, then find the A.P. |



36. The angle of elevation of the top of an unfinished verticle building on a ground, at a point which is
100m from the base of the building is45°. How much height the building must be raised, so that its
angle of elevation from the same point be 60°(Take V3= 1.73)

37. Prove that "the ratio of the areas of two similar triangles is equal to the square of the ratio of

their corresponding sides”.
V Answer the following: 5X1=5

38. A cone of radius 10cm is cut into two parts by a plane through the mid-point of its vertical axis parallel

to the base. Find the ratio of the volumes of the smaller cone and frustum of the cone.
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Subject: Mathematics _ MODEL PAPER -2 Subject code-81E
Time:3 hours Regular fresh Maximum marks: 80
L In the following questions, four choices are given for each guestion, choose and write

the correct answer along with its alphabet: : T 1x8=8

1. Inthe pair of linear equations x +y =9 and x — y =1, the value of x and y are -

A) 5and 4 B)4 and 5 C)6 and 3 D)3 and 6
2. The product of prime factors of 120 is
A) 2% x3% x5! B)22 X 3'x 5! C)2°x31x 57 D)2*x3!x 5!
3. Inthe figure, the value of sin C is
2 : V3 .
A) & B)=- (?) o) D) 1 : A
2
1 _
B
V3
4. The distance between the point (4,3) and the Origin is
A) 7 units B) 25 units C) 5 units D) 6 units
A
\B
5. Inthe figure BCis a O
A) Radius B) Chord C) Diameter D) secant
P C

6. If the n™ term of an arithmetic progression is 4n? -1, then the 8% term is.

A) 32 B) 31 C)256 D) 255



7. 26 English alphabet cards (Without repeating any alphabet) are put in a box and shuffled well. . If a

card is chosen at random then the probability that the card with an Vowel is.

3 5 1 21

N B)= c)i RES
A
8. Inthe figure, the angle of elevation 0 is
1
] AN
B V3
A) 30° B) 45 C) 90° D) 60°
II. Answer the following questions:  1x8 =8

9. The LCM of 24. and-.36 is 48 and heﬁce find their HCF.

10. Find the roots of the quadratic equation x* + 7x +12 =0,

11. Find the value of sin 90" + tand5°.

12. Find the co-ordinates of the mid-point of the.line segments joining the points (6,2) and (4,4).
13. I A is an event of a random experiment, such that P(A) : P(4) =1 : 2, find the value of P(4).
14. If the perimeter and area of a circle are numerically equal, then find the radius of the circle.
15. Write the fonﬁula to find the volume of the SPhére.

16. The perimeter of circle with centre 'O" is 24cm, the angle formed by an arc of the circle at its

centre is 30°, Find the length of the arc AB.
A

<



III . Answer the following: : 8x2=16

17. Prove that 7 ++/5 is irrational.

B
18. In the adjoining figure, XY ] I BC. AX =p-3; BX=2p-2
X
and 2L =21 Find the value of p-
Y 4
A
A

v C

OR
In the figure, PC | | QK and BC| | HK. If AQ = 6cm, QH = 4cm, HP = Scm and KC = 18cm, then
find the lengths of AK and AB. ‘

19. Write the general form of the following:

a) Linear polynomial

b) Cubic polynomial

20. Draw a circle of radius 4cm, and construct a pair of tangents to the circle from a point 8cm away from its
center.

21. If o and P are the zeros of the polynomial p(x) = 3x? -12x +15, find the value of «® + B>

22. The angle of elevation of the top of a vertical tower on a level ground from point, at a distance of 94/3 m from
its foot on the same ground is 60°. Find the height of the tower. |
| ‘ OR

Find the diameter of the circular base of right circular cone whose slant height is 8cm and semi vertex angle

is 600, o

60% g8 cm




23. Find the area of un shaded region in the given circle of radius 7cm and sector angle is 30° as in the-

figure.

24. Curved surface area of right circular cylinder is 440 cm?. and the radius of its circular base is 7em.

Find the volume of the eylinder.

IV. Answer the following: o 3x9=27

25, A fraction becomes %, if 3 is added to both the numerator and the denominator, also if' 3 is

‘subtracted from the numerator and the denominator it becomes % Find the fraction.

OR

10 years hence, the age of x will be 2 times that of age of y, 10 years ago, the age of X was six
times that of age of y. What are their present ages?

26. Find the two consecutive positive integers, whose sum of their squares is 365.

27. Find the perimeter of the triangle whose vertices are (-2,1), (4,6) and (6,3).
OR

Three consecutive vertices of a parallelogram are A(1,2), B(2,3) and C(8,5). Find the fourth vertex.

28. Prove that the tangent at any point of a circle is perpendicular to the radius through the point of

contact.



29. A flower vase is in the form of a frustum of a cone. The perimeters of its bases are 44cm and

8.4 m c¢m. if the depth is 14cm, then find how much soil it can hold.

OR

Atoyis in the form of a cone mounted on a hemisphere both are of same radius. The diameter of the

conical portion is 6cm and its height is 4cm . Determine the surface area of the solid.

(Take t=3.14)

30.Solve graphically: 5x + y = 17 and 2x — 2y =2.

31. The following distribution gives the daily income of 50 workers of a factory.

Daily Income (in Rs) | Number of workers
100 -150 15

150-200 12

200 -250 10

250-300 8

300-350 5

Convert the distribution above to a * less than type’ cumulative frequency distribution, and draw

it’s Ogive.



32. The sum of first n terms of an arithmetic progression is 210 and sum of its first (n-1) terms is 171.

If the first term 3, then write the arithmetic progression.

33. A man drives his car with uniform speed from place A to the place B which is 150 km away . Again
he returns to the place A by increasing the speed of the car 10 km/hour and there by reaches 30
minutes earlier than the time taken in his forward journey. Find the total time taken by him in

forward and return journey.

OR
A,B and P are the three non-collinear points on a pl.ane. The distance between the point A and P is 2m
more than the distance between the points B and P. if the distance between points A and B is 10m and AB
is the longest side of the triangle ABC. Is ABC a right angled triangle or not, Justify your answer using

the discriminant of quadratic equation and also find the measure of AP and BP

V. Answer the following. 4x 4 =16

34, If the sum of first & terms of arithmetic progressions is 136 and that of fusf 15 terms is 465,then
find the sum of first 25 terms.

OR
The sum of the 5™ and 9™ terms of an arithmetic progression is 40 and the sum of the 8" anid 14% term is

64. Find the sum of first 20 terms.

35. The mode of the following distribution table is 15. Find the mean of this data, and then find the

median value by using empirical formula relating mean, median and mode.

ClL Number of workers
1-5 7 |
5-9 | 2

9-13 2

13-17 8

17-21 1

ing
36. Show that =2 4 13€058 _ 5 hsec d
1+cosd sin@



37. Draw aright triangle in which the sides (other than hypotenuse) are of lengths 8cm and 6cm, then

construct another triangle whose sides are —35~ times the corresponding sides of the given triangle,

VI. Answer the following ' : ‘ 1x5=5

38. State and prove : The converse of the Pythagoras theorem.
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L. In the following questions, four choices are given for each question, choose and write the

correct answer along with its alphabet:

L.

8.

1x8=8
In the following numbers, irrational number is . _

A) V16 -9 B) % C) 0.3333 e, D)2 ++3

If Sin A = —, the magnitude of £ A is

A) 90° B) 60° C) 30" D) 45°,

The maximum number of tangents that can be drawn to a circle from an external point is

A) 1 | B) 2 C) 3 D) 4

The formula used to find the .curvéd surface area of a cone of radius (1), height (h) and slant
height (1) is

A)CSA=nrl  B)CSA=2m(+) C) CSA =2ur(rth) D) CSA= 2t
If one of the zeros of the polynomial p(x) = x* —x + k is 2 then the value of k is

A) 2 - B) -2 C)-6 D)6

The 10® term of an A.P. 5,9,13, ........... .. is

A) 36 B)31 C) 41 D) 21

In the given A ABC, DE || BC. If DE = 5cm, BC = 8cm and AD = 3.5¢m, then the length of AB is

A

A)5.6cm B) 4.8cm C) 5.2cm D) 6.4 cm

The probability of an event * E" is 0.05, then the probability of an event * Not E* is

1

A) 005 B) 0.95 0)— ) 5o



II. Answer the following questions: ' 1x8 =§

9. Write the number of zeros of the polynomial p(x) = x> +2x2 +x +6.

10. Write the 'discriminant’ of the quadratic equation ax? +bx +¢ =0.

11. If the first term and the common difference of an A.P. are 6 and 5 respectively, find its 3™ term .
12. State Basic proportionality theorem.

13. In Euclid's division lemma , if a = 3q +r, then write all the possible values of r.
14. If Sin 9=% and cos 9=§5 , find the value of sin%6 + cos6 .

15. Find the value of sin 30° + cos 60°.

16. A solid piece of iron is in the form of a cuboid of dimensions 10cm x 5cm x 2em. Find its volume.

ITI. Answer the following: _ ‘ _ : 2318 =36

17. P.T. v/2Z + /3 is an irrational number.

I8. Solve: 10x +3y =75 and 6x ~ 5y =11

19. Find the roots of the equation 6x% + 7x -10 =0

20. Find the distance between the points A(8,-3) and B (0,9) by using distance formula,

21, The perimeters of two similar triangles are 25cm and 15cm. If one side of the first the first triangle

is 9cm, find the corresponding side of the second triangle.

OR

In the given figure A ABC and ADBC are on the same base BC . AD intersects BC at "0, If AL 1BC

A A .
and DM 1BC , prove that ﬁi&T‘ig= 1%

22. Two cubical dice whose faces are numbered 1 to 6 are rolled simultaneously once. Find the

probability that the sum of the two numbers occurring on their top faces is more than 7.

23. Draw a circle of radius 3cm. Construct a pair of tangents to it,from a point 8cm away from its center.



24. If cos 0 = 0.6 show that 5 sin 8 - 3 tan® =0.
OR

P.T. (sec *0 - sec*®) = tan”0 + tan *6.

- 25, Find the H.C.F. and L.C.M. of 24, 36 and 40 by prime factorization method.

26. Find the nature of the roots of the quadratic equation 4x” -5x +3 =0.

27. Find the sum of first 24 terms of the Arithmetic progression 5,8,11,14, ........ccceevvieennnen,

28. In the triangle ABC, ZB= 90% AB = 6 units and AC = 10 units, then find the value of cos C.

&

10

29. The co-ordinates of one end of the diameter of a circle is (4,-1) and the co-ordinates of the centre

of the circle is (1,-3). Find the co-ordinates of the other end of the diameter.
30. A cone of height 24cm and radius of base 6¢m is made of Wax. It is melted and recast into the

shape of a sphere. Find the radius of the sphere.

31. Find the area of a sector of a circle of radius 6cm and angle of the sector is 60°.

32. Draw a pair of tangents to a circle of radius Scm which are inclined to each other at an angle of 60°.
33. Find the mean of the following data:
X =125,28,45,30 and 37.

34, Draw a line AB = 8cm and divide it in the ratio 3;5.



IV. Answer the following: | 3x9=27

35,

36.

37.

38.

39.
40.

The sum of the numerator and the denominator of a given fraction is 12. If 3 is added to its denominator,
the fraction becomes 2 . Find the given fraction. |
OR

Seven times a two digit number is equal to four times the number obtained by reversing the places of its

-digits. If the difference between the digits is 3, find the number.

If 3 and -3 are two zeros of the polynomial p(x) =x* + x* -11x? -9x +18,then find the remaining two zeros
of the polynomial. : '

The sum of the areas of two squares is 640 m?, If the difference between their perimeters is 64m,then find
sides of the square.

OR

If the roots of the equation (a2 +b% ) x* + 2(be-ad)x + ¢ + d? =0 are equal, show that ac + bd = 0.

Find the ratio in which the point P(2,x} divides the line joining the points A(-2,2) and B(3,7)
internally.Also find the value of x.

OR
Find the area of that triangle formed by joining the mid-points of the sides of the triangle whose vertices
are A (2,3) B=(4,4) and C (2,6)
Prove that the tangents drawn to a circle from the external point are equal..
In the figure ABCD is a square, whose vertices lie on the circle. Find the area of the shaded region, if

the perimeter of the circle is 88cm.

OR



A ABC is right angled at A. The sides AB, BC and AC are the tangents to the circle with centre 0" as
shown in the figure. If AB = 6cm, BC = 8cm, then find the area of the shaded region.

41. The following table gives the production yield per hectare of wheat of 100 farms of a villége. Draw

more than type Ogive
Yield 40-45 45-50 50-55 55-60 60-65 65-70
préductivity |
Number of |4 |6 16 20 30 24
farms |

42. Find the mean of the following data:
ClL 0-10 10-20 20-30 30-40 40-50

frequency 3 5 9 5 3

43 Draw a Itriangle ABC with side base BC = 8cm and altitude 4cm, and then construct another triangle

. 5.. L . .
whose sides are 5 times the corresponding sides of the isosceles triangle ABC.

V.Answer the following 4x 4 =16

44. Solve the pair of linear equations graphically: x — 2y =0 and 3x + 4y = 20
45. The pth, gth and rth term of an A.P. are a,b and ¢ respectively. Prove that a(g-r) + b(rl-p)-l—‘ e(p-q) = o.
' OR
The sum of the first three terms of an A.P. is 33. If ;rhe product of the first term and third term exceeds
the 2" term by 29. Find the A.P.



46. The angle of elevation of the top of an unfinished verticle building on a ground at a point which is
100m from the base of the building is 45 how much height the building must be raised, so that its
angle of elevation from the same point be 60°.(Take V3= 1.73)

" 47. Prove that "the ratio of the areas of two similar triangles is equal to the square of the ratio of

their corresponding sides".

V Answer the following: : 5X1=5

48. A cone of radius 10cm is cut into two parts by a plane through the mid-point of its vertical axis

parallel to the base. Find the ratio of the volume of the smaller cone to the frustum of the cone.
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I In the following questions, four choices are given for each question, choose and write

the correct answer along with its alphabet: 1x8=8

1. In the pair of linear equations x +y =9 and x — y =1, the value of x and y are

A) 5and 4 B)4and5 + " C)6and3 D)3 and 6
2. The product of prime factors of 120 is ' '
A) 2% x3%2 x5! B)2?X3'x5 ©  O2’x3'x5  D)2*x3'x5!
3. Inthe figure, the value of sin C is '
2 V3
A) W B) +- : C) Y D) 1 A
2
1
B V3
4. The distance between the point (4,3) and the Origin is
A} 7 units B) 25 units C) 5 units D) 6 units
. A
B
5. Inthe figure BC is ' ' Lo
A) Radius B) Chord C) Diameter D) secant
P C

6. ‘If the n™ term of an arithmetic progression is 4n? -1, then the 8% term is.

A) 32 B) 31 C) 256 D) 255



7. 26 English alphabet cards(Without repeating any alphabet) are put in a box and shuffled well. Ifa

card is chosen at random then the probability that the card with an Vowel is.

3 5 1 21 A
A) o2 B) — Cle D)2
8. In the figure, the angle of elevation 0 is ' L 2
A) 30° | : B) 450 C) 90° - D)6O° ®
V3
II. Answer the following questions: ' 1x8 =8

9. The LCM of 24 and 36 is 48 and hence find their HCF,

10. Find the roots of the quadratic equation x? + 7x +12 =0.

11. Find the value of sin 90° + tan45°.

12. Find the co-ordinates of the mid-point of the line segmenté joining the points (6,2) and (4,4).
- 13.If A is an event o'f a random experiment, such that P(A) : P(4) = 1: 2, find the value of P(4).

14. If the perimeter and area of a circle are numerically equal, then find the radius of the circle.

15. Write the formula to find the volume of the sphere.

16. The perimeter of circle with centre "0’ is 24cm, the angle formed by an arc of the circle at its

centre is 30%. Find the length of the arc AB.



III. Answer the following: ' 18x2=36

B
17. Prove that 7 + V5 is irrational,
X
18. In the adjoining figure, XY | | BC. AX =p-3; BX=2p-2 1
AY 1 .
2=z A
and — e Find the value of p. _ » C

_ OR
In the figure, PC | | QK and BC | | HK. If AQ = 6cm, QH = 4cm, HP = 5cm and KC = 18cm, then
find the lengths of AK and AB. -

19. Write the general form of the following: 8 i

a) Linear polynomial

b) Cubic polynomial

20. Draw a circle of radius 4cm, and construct a pair of tangents to the circle from a point 8cm away
from its center.

21. If e and B are the zeros of the polynomial p(x) = 3x? -12x +15, find the value of o + B~

22. The angle of elevation of the top of a vertical tower on a level ground from point, at a dis.tance of
94/3 m from its foot on the same ground is 60°. Find the height of the tower.

OR

Find the diameter of the circular base of right circular cone whose slant height is 8cm and semi vertex

angle is 60°. -




23, Find the area of un shaded region in the given circle of radius 7cm and sector angle is 30° as in the
figure. '

24. Curved surface area of right circular cylinder is 440 cm” and the radius of its circular base is 7em.

Find the volume of the cylinder.
25. Without actual division show that % is a recurring rational number.

26. Solve: x+y=8and 2x—-y=1.

27. Find the sum of first 10 terms of an arithmetic progression whosé first term is 3 and 10" term is 39
28. A pole is fixed on a level ground perpendicular to the ground and a point on the same ground A
8m away from the foot of the pole, the angle of elevation of the top of the pole is found to be

60°. Calculate the distance between the tip of the pole and the point on the ground.

29. Find the ratio in which P (-4, 6) divides the line joining points A (-6,10) and B(3, -8) internally.

30. A solid cone of height l4cm having its base radius 7cm is melted and recast to form a solid

hemisphere. Calculate the radius of the solid hemisphere.



31. Find the length of an arc of a circle of radius 10.5¢cm , if the angle subtended ‘by the arc at the
centre of the circle is 60°,

32. Draw a line segment AB = 6cm and divide it in the ratio 1:2.
33. Draw a tangent to a circle of radius 3cm at any point on the circle.

34. A fair cubical die whose faces are numbered 1 to 6 is rolled once. Find the probability that the

number occurring on its top face is a prime number.

IV. Answer the following: ' | ' ' 3x9=27

35. A fraction becomes %, if 3 is added to both the numerator and the denominator, also if 3 is

subtracted from the numerator and the denominator it becomes % Find the fraction.
OR

10 years hence, the age of x will be 2 times that of age of y, 10 years ago, the age of x was six

times that of age of y. What are their present agés?

36. Find the two consecutive positive integers, whose sum of their squares is 365.

s

37. Find the perimeter of the triangle whose vertices are (-2,1), (4,6) and (6,3).

OR
Three consecutive vertices of a parallelogram are A(1,2), B(2,3) and C(8,5). Find the fourth vertex.,

38. Prove that the tangent at any point of a circle is perpendicular to the radius through the point of

contact.

39. A flower vase is in the form of a frustum of a cone. The perimeters of its bases are 44cm and

8.4 7 cm. if the depth is 14cm, then find how much soil it can hold.

OR



A toy is in the form of cone mounted on a hemisphere both are of same radius. The diameter of the

conical portion is 6¢cm and its height is 4cm. Determine the surface area of the solid.

(Take . =3.14)

40.Solve graphically: 5x +y =17 and 2x — 2y =2.

41. The following distribution gives the daily income of 50 Workers of a factory.

Daily Income :
. Number of workers

(in Rs) '

100 -150 15

150-200 12

200 -250 10

250-300 8

300-350 5

Convert the distribution above to a * less than type’ cumulative frequency distribution, and draw

it’s Ogive.

42. The sum of first n terms of an arithmetic progression is 210 and sum of its first (n-1) terms is 171.

If the first term is 3, then write the arithmetic progression.

43. A man drives his car with uniform speed from place A to the place B which is 150 km.away. Again
he returns to the place A by increasing the speed of the car 10 km/hour there by reaches 30 minutes
earlier than the time taken in the forward journey. Find the total time taken by him in forward and
return journey. -

OR



A,B and P are the three non-collinear points on a plane. The distance between the point A and P is 2m
more than the distance between the points B and P. if the distance between points A and B is 10m and
AB is the longest side of the triangle ABC.Is ABC a right angled triangle or not, Justify your answer

using the discriminant of quadratic equation and also find the measure of AP and BP.

V. Answer the following. | 4x 4=16

44, If the sum of first 8 terms of arithmetic progressions is136 and that of first 15 terms is 465,then
find the sum of first 25 terms.

OR
The sum of the 5™ and 9™ terms of an arithmetic progression is 40 and the sum of the 8™ and

14™ term is 64, Find the sum of first 20 terms.

45. The mode of the following distribution table is 15. Find the mean of this data, and then find the

~median value by using empirical formula relating mean, median and mode.

CL Number of workers

1-5 7

5-9 2

9-13 12
8
1

13-17
17-21

sind 1+cos @
1+cosé sinf

46. Show that = 2 cosec B

47. Draw a right triangle in which the sides (other than hypotenuse) are of lengths 8cm and 6cm, then

construct another triangle whose sides are 5 times the corresponding sides of the given triangle.

V1. Answer the following 1x5=5

48, State and prove:The converse of Pythagoras theorem.






